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sfleyemy : (1) SiDaGE) ellamésenid sAurs oidamL) ugleurdl o ereTHT eramUgenan
mﬂ_urrrrg@a; Q&meTerayb. SiFsLuudlelld goapW¥midear <imns
sansrefluurerfiib 2 |_angwirs Qs flafléseayb.

2 Bob ooz smuy @w@eaen WLHCL  ergusDHEWD

SI&ECEHTG QeugD@d LweTLBES Couam@b. UL kisear eUeTeUSH(E
Quenéled LwaTLBESeLD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

GPILY : Qeuelamsgrer apsing GNaysaens Qaream_g).

Note:  This question paper contains three sections.
19)fley - I/ SECTION -1
(HOQuaRTssT : 15) / (Marks : 15)
GBIy @ @ufelle) eemer 15 eflamasEnaiEn e welldseai. 15x1=15

() e iys eiuged GsTRssLULGeTa rHp e sio
Wseyd sfwren efleL s CaipRsBS8 cT(gayb.

Note ; ()  Answer all the 15 questions.

Choose the correct answer from the alternatives given in the brackets.
[ ®LUys / Turn over
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@enncian s Blfley Gpmar® L.Irrﬁ.é;‘ﬁuut'gws" wellgefen senamusdled
Qedsar HageauaL pHHEGLD.
(péoum, SLLm, smor, QL)

In persons suffering from insulin - dependent diabetes, _the cells of pancreas
are degenerated.

(Alpha, Beta, Gamma, Delta)

GDBs GYbNssE pear Waeld Dar@ssuu@n Cemus gGuyd
(eumieuyl) GumrelGwir, DPT, DPT wpmio eumieuyd CurelGur, BCG)

The first vaccine injected into a just born baby is

(Oral polio, DPT, DPT and Oral polio, BCG)

CprugenLs sruy warL @ L LgrLifyeLwu prerlléoeors &rod

(engrmi®, engav, 2 Mered, Seflwe)
The endocrine gland related to the immune system is
(Thyroid, Thymus, Adrenal, Pineal)

phe expaneuss llasear @wsgn Qurys auflwurs Bir
&8 8lmg.

(Doaggmen, QearyGa®, mwsGrreud, wenerGaur)

If a water soaked seed is pressed, a small drop of water comes out through the

(Stomata, Lenticel, Micropyle, Radicle)

Bl e euraey @eLier sreriiuGEADE.

(euavg) %rﬁ:éseﬂe’rr pmib g Qeuarfsder, @Lg < Mssdr whmbd
g Quar fsflar, aag Gauan fsha whpd pordred swe,
Grg Qeua_fsder wpmib Qumpsoe)

Mitral valve is found between

(Right auricle and right ventricle, Left auricle and left ventricle, Right ventricle and
pulmonary artery, Left ventricle and aorta)
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wr@arr_Crrureiid, 2 arej’s Qur@easmer o Mghsughsrear AmLiLre
GeufigeT _____ .

(aprevCLrilwmser, @wsGsrarsred Goarsedr, upy Geurser, Geupd
Geufrger)
In monotropa the special type of root which absorbs nourishment is the .

(Haustoria, Mycorrhizal root, Clinging root, Adventitious root)

ulghs HHL WgsEGEL Curmersamar wenpulenred Bésemd.
(pas Boas ssHafiy, Qrarrd fows asdefliy, apaprd Haws
s&dafuy, Gupurins ssHafuy)

The sedimented and floating materials are removed by this treatment process.

(Primary treatment, Secondary treatment, Tertiary treatment, Peripheral treatment)
SPSLO Wpegs GaluueTaer seu rflésl LwaTUHSFHID UTLESEDE6

(afefluih - psedimer, ybadigar - @BLTRE, WAL TR - enBLERe)
The mixture of gases used by deep-sea divers is

(helium - oxygen, oxygen - nitrogen, hydrogen - nitrogen)

28145 DbwgHle faflsr 2_ererg. suilfler e emer {Lbled
(@réé sflon, LmiLmié ble, ACME <jleib)
Vinegar is present in acetic acid. Curd contains acid.

(Lactic acid, Tartaric acid, Citric acid)

dmaggs sfog GaMomsEEEGL SiglueLwren seflo .

QasrEHude o dreng.

(14-aug QgmgHulier, 15-aug Qgr@dule, 16-eugl Qasr@Sude)

An element which is an essential constituent of all organic compounds belongs to the
group.

(14 group, 15t group, 16 group)

[ Amuys / Turn over
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11. @rliui ureas Qs uBSsU LwetuBEng.
(erazene, ergsammis Sdlew)
is used for coagulating rubber from latex,
(Ethanol, Ethanoic acid)

12. HmE iered eramug G 2.6TeT DjeTeys@GL uRreRTd 2 emer
Bes HPw Qurmersemer SeredlBo HMHeLTGL.

(0.1 cm, 0.01 cm, 0.1 mum, 0.01 mm)

Screw Gauge is an instrument used to measure the dimensions of very small objects
upto

(0.1 cm, 0.01 cm, 0.1 mm, 0.01 mm)

13. 2 ps wipurl(® ssdhEs swworea ubHiiluen et
(BLUQuuiEd), &S, tes, saFSTES Hens)
The physical quantity which is equal to the rate of change of momentum is

(displacement, acceleration, force, impulse)

14. HCameurl. wenfl eramug AT VG G-
(Beranpss Coupun®, Wardpes, Werammpned, Wengn_L1d)
Kilowatt-hour is the unit of

(potential difference, electric power, electric energy, charge)

15. 2 Garss sLgHula urybd WHaGarriib agmand sH
2 (HeUT&@GLD.

B

(smhsl Lo, ahfly s, graw® WlenGenm_LLb)
An electric current through a metallic conductor produces around it.

(magnetic field, mechanical force, induced current)

e a. g S S 2
3 .~ i A -
b ‘ : R
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Wfley - 11/SECTION - II

(wHLQueTseT : 40) / (Marks : 40)

20x2=40

Note : Answer any twenty questions :

16.

17.

18.

SL&5EF W LigmLseT s Sphasdn@enenn, Cullarsfn@erepn wrpu@Ln.
ED&STEID LIATLSET Esemaw wryur@sdr QararBerearar arars GHLEGS.

i) weallzs sawefan Hpb fow, smiy, LWLy, uFms e LIHLGSDS.
@eueuens rmuUT®H eramiLI(id.

(i) pwe, wremer Gurapeupble srariLHLD L SjeioliL] rmUL (HeTeng).
@Qleucuansd WrMUTHSET ereTLILI(RILD.

The inheritable characters vary in different species and within the same species. Name
the variation in the following cases.

()  The eye colour among the human beings are varied as blue, black, brown, green
etc. This is called as variation.

(i) The dentition in the rabbit and the elephant are not the same. This is called as
variation.

wryl Qurdlwe erenpred eremen ?

What is Genetic Engineering ?

Suparereupmer s@HS Basmar GUTHESIS.

(ompsiser, erAQuImeT, Herregpudf, aerifleng WIHOHLD, sfo sflemsdr)
i sOUY LHBS i) Qupens eumy

(i) AMs ofewb (iv) eveulL LBlema&er

Match the following by identifying the pair :

(medicines, fuel, microbes, metabolism, organic acids)

(i) Vaccine, (i) Natural gas,

(i) Citric acid, (iv) Vitamins

[ Hapliys / Turn OVer
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20.

21.

http://www . tamilnaduboard.com

6

LD & DL reir Cprlser yrss GeourlLme
WLFTEVLOE)  MH LD @mn@Q@mnW&i i, | |
gFHu@Aemen. wrreved CHMU, @W"@QC”_”J""‘“_GWFUQQS]@E@ 2 LnSlw .GUU-C.f]QJ
wHpd WPssHH eisan HHW aEhad o Cupubdamnar. Qésahn
sfwr ? gauprs Golddar HosH TGHS |
Marasmus and Kwashiorkar are both protein deficiency defects. Marasmus differs

from Kwashiorkar in enlarged belly and swelling in the face. Are these symptoms for
the above diseases correct ? If not, correct it.

EGy o dTer LULFDS UDTHS Qer@asuu_ferer @huysefian e geilume
LUTSEE®EE GDES. |
Copy the diagram and label the parts with the help of the clues given :

Q) @ Snbresde \Bg) ienLobFIeTeT &g | | |
@) @& sTéED apriGransdr 2OGLTavie Grrer DM &g Cavmes <,@LW.
(i) Itis otherwise called supra renal gland. ‘

(i) It secretes two hormones, namely aldosterone and cortisone.

Qar@ssrulBarer UL cuanyhgl S(peTer LTSRS GDI&HSLD.

() er@avdr (i) @pmi Hupsefue
Draw the given diagram and label the following parts.
() Exine (i) ~Tube nucleus

http://www . tamilnaduboard.com
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GILAGHS.

Mention any four adaptations seen in the camel so that it can live successfully in deserts.

http://www . tamilnaduboard.com
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23. Qe QuImbETEmss CoHTEUEBES TOHS.
) GGamyeden, @Germpaven, SoanLiQfGanmgern, gpeLjdle.
() wesewrBser, QambueLw Qebdlur@aer, srgset, £6.

Pick out the odd one out.

(i)  globulin, glomerulus, fibrinogen, albumin

(i) mountain goat, big horned sheep, grizzly bear, seal

24, Gemau(BID B L auenerTanl Hlriys.

afley B6s 2 pIUY QeuefCupmid sibley sfleyls QINHETSHEN
wpfwr, wpflé 24 Bleuwd,
Smbrsbd Ampr Afwr_yafler Gumen
WEHu epLIR Sifloysar
S QauefGuHpILEOD
\@WU ye .
sifswrar B OO
Cone o (IySET
I
Complete the table given below :
Excretory organ Disposed as Excretory products
Nitrogenous waste products -
Kidneys Urine Urea, Uric acid, Creatinine efc.
I
Lungs Exhaled/Expired a
-
Skin Excess water and salts
—
_—-._—__—___,_—-—_

6830
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25. QETR&SLILL I mEGL UGS Soual&S.

26.

27.

@ UL A, B-& srewliLu@BL QuEsEEDTE @blii{Hs.

@) eraaurm Geaelwssmsar CSTLLTGD  HAeamd
Quéstiseiadmbg CeumuBélarmer ?

Observe the diagram.

(i) Mention the type of movements shown in figure A and B.
(i) How does this movement differ from the movement of mimosa ?

b
) Y
e

FTEHE®TE HMIFD LOSADTONS LIHOELSNE).

i Cupsar_ Qeudle assamsw Flapss poLCupdpg ?
) orbs piamadfl FOUGSDS) ?
Sugar solution is converted into alcohol.

(i) In the above reaction what kind of process takes place ?
(ii) Which micro - organism is involved ?

SpssrarTueuhennl GUMHSE!s.
3 b
(a) wCwraflur QLeils () euemeTEEMIL L(LH&H&ET
®b) wACwrQLels (i) Sewser
() wAGasrQLdls (i) LT Ig&HET
(d) Qpufgwréser (iv) umpeEISET
Match the following :
A B
(a) Ammonotelic (i) annelids
(b) Ureotelic (i) fish
(c) Uricotelic (iii) mammal
(d) Nephridia (iv) birds

http://www . tamilnaduboard.com
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YGereu i : X :

. @m@mmmmu HUSAURSS o emays suddllaw o heurdss.
(UmbY, Yo, s1ps, Sauenet, Geur [édaf)

Depict a f i i
P ood chain by placing the following organisms in the correct trophic levels.
(Snake, Grass, Eagle, Frog, Grassholaper)

Curé@eurss curseaniisefld LwauBSsLU@L Sreu eulfl erflbummarser
wreneu ?  (ereneuGuignitd mrem;)

What are the various liquid biofuels for transportation ? (Any four)

wrdluerer, HmHwuuGup Qugin, HmbutCup Quers suaTmsamer
WPernWrs QuUm(HSEs.

GLIGT I &HEIT A B C
& LGLmID ) Gl
s STH D QuL_Crredlwid
GUGITTRISETT
T . @ flwgpefl
ﬁ@muu@e!ﬂ‘ @anl e | Gubes aumy o
Qg eueThISET DD

Match the suitable renewable and non-renewable sources.

C
Sources A B
Renewable Coal Wind Petroleum
Non - Renewable Hydrogen Natural gas Solar energy
0 -

et Lyefudled LienpuieRTL sraurl) QUITGETSET

Lia LBléedlwiest @HHEHE P araar e (meumullan. arapeuCuigy Gran@

Aergauel HSHTeL Lt arflAurG

nganeTd Salis. , -
o e rrf@m d by Jecomposition of biomass buried under the earth over millions
Fossil fuels are forme

i Is.
of years ago. Name any two fossil fue
PR
QQperafludr Guisd TaTDre crene
What is Brownian movement ?

[ HmLiys / Tum over
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34.

35.

36.

37.
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20 & sepowe 2 Lienu 50 4 B s@rEHBHETD Gissmred Qedlelear 55658
fleopanws seasd([Hs.

Find the concentration of solution in terms of weight percent if 20 g of common salt is
dissolved in 50 g of water.

12.046x102 sigpssar Garar.  smdrsded edrer  Cuorodsefe
Tananfllsamamws semsslHs.

Calculate the number of moles in 12.046 X 10?2 atoms of copper.

A, B aramn @m oiflvmse wamaudd meugsliul Herarear. A-lowras)

Bfle ugHuaGar GNmsumL_dpg. pame B-siblewrarg (P (HEPLOWINEL

YflemswenL fmg).

@) A, B sflonsad audow gonps Sblab ag ? awdlew WGHS
Sdled ergy ?

(i) adew @ophs HblwsHDEn, udan BighEs SbllosdfhEw @
T(HEHIE ST F(HS.

Two acids ‘A’ and ‘B’ were kept in beakers. Acid ‘A’ undergoes partial dissociation in

water, whereas acid ‘B’ undergoes complete dissociation in water.

(i)  Of the two acids ‘A" and ‘B’. Which is weak acid and which is strong acid ?

(i) Give one example for weak acid and strong acid.

AurmpsTs@ss CoipcsBss! oes.

(i) saflo yWemser : HCl, HNO,; H,S0,, HCOOH

(i) &mrsgeenw @ @Qrssb, senwwe Germ, efeflar, oS QUuweTLT
< Gwreflwr

Pick the odd one out :

() Inorganic acids : HCI, HNO,;, H,SO,, HCOOH

(i) Basic Nature : Blood, Baking Soda, Vinegar, Household ammonia

seupren aursslusamssd Hmsd erss.

() @reaireaug Aer i godlw QsrLi e @Ho Qran® selwhiser
WL (B o crerear.

M 18 b Cgreds saflvmsd CapCarger GHLUDL TanePsaL
uhdlenpen.

Correct the mistakes, if any in the following statement.

(i)  Second period is a short period. It contains only two elements.

(i) Group 18 elements are called Halogen family.

http://www . tamilnaduboard.com
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2 QISILLBSSIS : g,r‘n.ﬁ]r;u Urglriiser gniewlu@ssiuLeldome erefe,
uEes BImy Lig euip Carenndns.

Qs Higwsdparen sryetd &1 Srllys sriuGer

(=) 20HLUBSSED WOYD Siyamh oM. sTramd sAuns QuTHHSIEMG!.

(=) 2HULBSHsD oM. srremy sfwurs QuImbsaidame.

Assertion : A greenish layer appears on copper vessels, if left uncleaned.

Reason It is due to the formation of a layer of basic copper carbonate.
(a) Assertion and reason are correct and relevant to each other.

(b) Assertion is true but reason is not relevant to the assertion.

SNTETLD :

eam&TL USLLHSESEGL Lweau@w (A) eramp sfws Garwsder aposaam
eumiuur® CH,0,. Q&Gaion asgargiar alearyfbs @efliu wamperLw
Gairwb (B) -evwd smHADE.

(i) Gsiwbd A wHmn B -emws sam@lligés.

(i) @uepuler QUWGFWE, sigan Ceudé swenUT L er (WP is.

An organic compound (A) is widely used as a preservative in pickle and has a molecular

formula C,H,O,. This compound reacts with ethanol to form a sweet smelling
compound (B).

(i) Identify the compounds A and B.
(i) Name the process and write the corresponding chemical equation.

gamm (A): sThs éHose YbuLTEED (MRI) wopulle wblés
sThsLILSmS Lallg 2L e di@snUyseaile eaB@eaus g
aufldsarGamm_Lb (scanning) @LULGEHDE.

amewid (R) : euallepowimen STHSLLOSSTO AHs0 uGHDer Lamam
QibuRiseneTs GUDeTLD,

(=) (A) seuprang, (R) sflwrerg

(=) (A) sflwurang (R) seupTeag

(8) (A), R) @ran® supTa ‘

() (A) sflureng, (R), (A)-@ ALUDESADE. |

Assertion (A) : MRI is used to scan the inner organs of human body by penetrating
very intense magnetic field.

Reason (R) : By use of very intense magnetic field, very high resolution images can
be obtained.

(a) (A) is incorrect and (R) is correct.

(b)  (A) is correct and (R) is incorrect.

() Both (A) and (R) are incorrect.

(d) (A) is correct and (R) supports (A).

[ $muys / Turn over
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41. 14 4 ;_F,lmggyshm SO Auner 20 1§ 2 wrsdd) Qg s QawiLBSDG.
ﬁm?mu_l UBSMLBEGID, 24Cs Coussdled @mgm@@m@. 2. hs LIHUTL LS
ST, {g =10 LB/sﬁ]z oTeliG)

AEO object G_f mass 1 kg is dropped from a height of 20 m. It hits the ground and
rebounds with the same speed. Find the change in momentum

(Take g = 10 m/s?)

12 Gurpégs

2 ML &er GOEE

(@) [fleir seibd @) \—l‘

) [ered (=) sellla (epgug) | (i) — =

(€) &b Qenemriiy () | —A—

(d) | B HemL_ (iv) __( .)‘

Match the following :

COMPONENTS SYMBOLS
(@) |An electric cell ) l
(b) |Plug key (or) switch (closed) | (i) + =
(©) |A wire joint (i) AW
(d) |A resistor of resistance R (iv) (o)

http://www .tamilnaduboard.com
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CamglL @Lismer By,

() derengss Caupur® : Gaurg §r i, erefldr BenCammi s
(i) Bidenr Hevaowd : wyysmy Qmmed, erafled Gfw ey hme :
Fill in the blanks :

()  Potential difference : Voltmeter : then Current :

(i) Hydro power plant : Conventional source of energy ; then Solar energy :

GumrisL e Qeuliu <y Hme GOSE T(WEs.

Write about ocean thermal energy.

Semaumid s uanruL b GEilwmguie Gbutb Carenpeuamss GHSELD.
(=) sfgider Gepews sam_Dibg), Gewunn SHi uerLLLD eueFLayb,
() 2 miger msssHnarer efardsd Fra.

The ray diagram shown below is introduced to show how a concave mirror forms the
image of an object.

(a) Identify the mistake and draw the correct ray diagram.

(b)  Write the justifications for your corrections.

M

Y
\

[ &®Uys / Turn over
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46. oolbemfli cuaGens fflenwd samy.

Define Fleming’s right hand rule.

47. 206 Gelldoadlampg 25 Ga.8 Agreneeis 2 aem gp QuT(peT QevenaseE
Werarmed 20 Qa.18 Qgreneaeile) GbuGeng TOLUBSHHng erafld, CQeenslen
GeNws Qsreverey ereme ?

If an object is placed 25 cm in front of the COnverging lens forms an image 20 cm
behind the lens, then what is the focal length of the lens ?

Sfley - II/SECTION - 111
(LgluQueimser : 20) / (Marks : 20)

GSOILY : () @eaiQeun LEHISBESD Gm e eSsid> s, eflenTé (e S
allenLweflsseyb. 4x5=20

) gt eflamalhEw gpis wllClLaTser.
(i) Ggeveuwren QL risefler LD euanys.
Note : ()  Answer any four questions by choosing one question from each part.

(i) Each question carries five marks.

(if) Draw diagrams wherever necessary.

L&S) - I/PART - 1
48. 2 mseT uEHWd WCRWT Lres 2_ereng).

(1) Qoomans s_GULERSS o rusdr vEdulen oMl SQeIRTEETEES 1G]
Ylarsmar auptiss.

(=) wGaofwrefer #fwirer Grmi sf@duleen eT(pss.
There is a widespread outbreak of malaria in your area.
(a) Suggest some controlling measures to the local authorities concerned.

| (b) Write &_l.e symptoms for malaria.

http://www . tamilnaduboard.com
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_ O erem a{mgpéssslllu(gém)@. Gl el wgw, Br$s prethisemery
Quppgiwrer 5@ BonsE_(4)  eamy Quuir (P ENETEn W LD,
& (HeuLSanguyLd 00 Apméswrs SDIDLHFIETET 2 L ym Gweadw
2-p&E _O)  eremy Quui

(<) wba euenswrar BTy Qedsailer Quuisamer (PG,
(@)  Use words from the given list to complete the following paragraph.
(Vertebral column, Piamater, Arachnoid membrane, Meninges, Duramater)

The central nervous System is covered by three protective coverings collectively
called (1) . Theoutermostcover lyingbelow theskulland ~ (2) s double
thickandiscalled (3) . The middle covering is thin and vascularised and is
called _ (4) . The innermost cover is a very thin delicate membrane and js
closely stretched over the outer surface of Brain and Spinal Cord and is called

(5)
(b)  Name any 5 types of nerve cells.
U@&S! - II/PART - 11

50. @m aligSerag sreur eflensullen ienlienuL) ULSgIL e efleuflgs.

Describe the structure of a dicot seed with a neat diagram.

51. (1) usenio Couluwiey erammed ereram ?

() usanio Carflulwallen efleneraured o (eurssiiL, & Fiq W TG TaL]
QU@ ser wreneu 7

(@)  What is Green Chemistry ?
()  Write the future products of Green Chemistry,

[ ®LIys / Turn over
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52.

53.

54.

55.

http://www . tamilnaduboard.com

16

@S - 1I/PART -
@7 Sjgmeneuts updlu Ggefleurear sﬁlmé;asgmg SeNGsEEamigW BeIe D\GG
Qsratenswirangy simads Qaraeas, HlooWoars Cariur®, sHCUT®SL
s@H g Lysear gy dwuanens Csrarh 2 (Heumramgm@Lw0. @euplen oL
pelan oigmd Qararasiien CamLuThE®a ofefss.
Modern atomic theory takes up the wave concept, principle of uncertainty and other

latest discoveries to give a clear cut picture aboutan atom. State the findings of modern
atomic theory.

Fré&Emré sfleundladmhbg adsamed sWriEEn wenew efeufl.
Explain the manufacturing of Ethanol from Molasses,

u@dl - IV/PART - IV

(=) fwlLeflen s Qués o, Heowslian vameru deTs&EGHDG.
Q&smmenn Hlwumuiu®Sgs.

(=) 10 &4, 15 A8 Hevpujerer QureTser wpeapGu 10 Bead~1, 5 BHef !
Gausgdler Qeweuang uLD &THEADS. emeu Curdsarardammer.
Curgellear Curg e CsriB&tsraresn Corrv 2 afaTrg &6
Cursgsgular sma wanGw 4 Ba-1, 9 B! Geaussdeo
Qeedlemmen. eraflé) Fy, F, Qeuperns srans.

Fi F
10m/s -

Sm/s 4m/s 9m/s

(a) ~Newton's first Jaw of motion gives a qualitative definition of force. Justify.

(b) The figure represents two bodies of masses 10 kg and 15 kg, moving with an
initial velocity of 10 ms~! and 5 ms ! respectively. They collide with each other.
After collision, they move with velocities 4 ms~T and 9 ms~1 respectively. The
time of collision is 2 s. Now calculate F, and F,.

Fy F,
10m/s -

@ - (o) - CORCHOR

Umreneusd GmpurBseners

GGG Sieuperp efeufl. Beuhen ;
&fl Qealwemd ? e PP erelaury

State and explain the defects of Vision. How can these defects be rectified ?

-00o0-
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